Bell Ringer - Solve for x. Round to the
nearest hundredth.

6x2 + 5 = -79



Bell Ringer - Solve for x. Round to the
nearest hundredth.

-ox2 + 5 = -79
~lox* =~ 84
. ——

XKoo= 14
\ x2 =Y



Quadratic Formula

Formula is used to find the solutions to a quadratic function.
Remember a quadratic function is y = ax? + bx + C.

Solutions are the x-intercepts of the parabola.

To use the formula, substitute values for a, b, and c.
Note: a#0
b? - 4ac > 0 to have real solutions Why?
cannot take the square root of a negative.



Remember to the use the quadratic formula, the quadratic
function (equation) must be in standard form.

Standard Form: ax2 + bx +¢c =0

** watch the negatives **



Solve the quadratic function using the quadratic formula.

1) 2x2 - 3x = 8



Solve the quadratic function using the quadratic formula.

1) 2x2 - 3x = 8 SFE Ax*-2x-8 =0
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Solve the quadratic function using the quadratic formula.

2) -14x =-2x? + 36



Solve the quadratic function using the quadratic formula.

2) -14x=2x2 + 36 OF Ix-/Mx-3L=0




[+ XA 1 - 232
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